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LICENTIATE. EXAMINATION
PRINCIPLES OF INSURANCE
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Answer ELGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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Write short notes on: 4 each
a)  Interruption insurance

b)  Decreasing Term Assurance

¢} Solvency Margin of Insurance Company

d)  “Last Straw Cases™ (Proximate Cause)

®) o iR & HEe g Y (Wl o 6 37)
) w9 e dedl 2 i 2 o e 8 7 s
s & |

#)  What are the essentials of a valid contract? _ ficach
b} Does Uberrima Fides hald good for both the insurer and the insured?
Give your comments,
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What are the various intermediaries available for insurance business 7 Explain 12
the role played by such intermediaries .
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State with reasons, whether the fi ollowing statements are true or false. 2each
a}  The insured can call for arbitration when his claim has been repudiated,
b)  Personal Accident policies are contracts of Indermnnity.
©)  Prineciple of Abandonment applies to all branches of Insurance.
d)  Benefits under whole LLife Policy are payable on the death of the policy
holder only.

€} Anemployer has no insurable interest on emplovees” life,
I} Wearing a car seat bell while driving is an example of risk identification,
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Distinguish between: 4 each
a)  Excessand Iranchise

b}  Purerisk and Speculative risk

¢} Facultative and Treaty Reinsurance
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What do you understand by the theory of probability? And how is the law of 12
large numbers relevant to it
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Expand the abbreviations: - 1% each
@l a) Cll
)T b) TAC
#) PLIAct ¢ PLIAct
) [ESIS dy  LiSIS
5 WO Act e)  W.C Act
%) CAR Policy D CAR Policy
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Fill in the blanks:- | for cach blank

R - ~and ___are the three types of
hazards,

by A policy isaterm insurance policy without the limitations of
a period,
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i ___isthe amount of reinsurance given by the ceding office 1o the
reinsurer.
d)  Theproductsold by anmsureris ~~ innature.
(ot is the most dominant cause of which the loss is a natural
consequence.
f) s and  arethearcasofrisks covered
under marine policies.
B The _olaninsurance company corresponds to its ability
1o pay claims.
h)  Subropationrelatesto  whicharises out of certain contracts,
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Enumerate in detail the Factors that determine premium rating. 12
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a)  What are the aims and objectives ol Insurance Regulation 7 ~ Geach
by Whatare the general leatures of proposal form for personal insurances?
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